EARAROBEEIERT — 2 N— IBISH —F

201756A8H () SHEHMHSH

m C3= #5%4®Lt EEDE T
[A&4€] 1 %:250,00 ~ 23%&:60,00MH ~ 33#%&:30,000H  43#%:20,000H  57%:15,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e .31 NI . _ WAz (EH)
il nues-= B4 = 1(3_1)9 6-6-5-4 | 38.9 4 :ZS) IS
R:TI9v78%3—K B:wLvYxex 2l #F
o i 4 | MNERF 1:32.0 1-1-1-1 | 39.5| — 3 440 | BIEFIER (EH)
218/10| XA TS 54.0 ) 4o |HD) PN MEE
L:T7RIfYL—> BATZLIT7 71T H—L—- T vIN> . T7—LBRS
_ 47 | BlER 1:32.2 8-8-2-2 |39.4| — 2 480 | RFIZE(E (EM)
IR A 56.0 (1 1/2) (5) | PREIRRSE
LT RIAYT2ER BVII/IN—F 1 EH =B
S 44 | BARER 1:32.4 3-3-3-3 [39.6| — 1 519 | EEZEE (ER)
] 4 TAZ—=2+ b 56.0 (1 1/4) -2) DIEEAAR
a4 FxSv ML B:5ro/ax Im Hs
N NN R FEWEAT :33. 04— . — NEEH (EE
5/7|8|77VFNR=T> S a e A ! fﬁé ") 7o
L:A—-LvisFLf4a B:F7I974TT77k HEEEKS
6 | RABELR 1:34.1 10-10-10-" T - 1 M BEHER (EH)
6 3| b —n— # 252.0 @3) M ° (_93) 1) A— PN MEE
XM= TFR—L B9 IRTRLAZX H—L—+ T vIN> - T7—LBRS
. =T H— 34 46 5| — ILEHEL ()
75l | 7rHLEY it 4 2n 1(33;2)3 4-4-6-7 | 41.5 5 <5+o12) e
R:GFRAILE— BFIU-—FT BMEAZ 2 Y K
=9, € B 6 | AIFFEA 1:34.4 6-7-7-6 |41.4| — 9 457 | WoTtERE (FEH)
8 2 22 Ay S (3/4) 43 | W Tr-ZpEVar
:vQ7% B:ECMLY-IL ellikse]
3 ;45 i 6 | HEFE= 1:34.6 9-9-9-10 |40.3| — 6 425 | R (EM)
9 6| Y/ TITHRAT > 54.0 (3/4) w5 | (B) SEATATUR
LA YT BNVRIATY NEIE FIX
. . €213 | AR 1:34.7 5-5-8-8 |41.7| — 8 482 | BM=Z (EH)
10077 2EV>H-> 7| 6.0 (7€) (1) |BTHR
L:ZFATd—IK B:o1>717U— Al ®—
® 1—F—@EBIERL
1T=7r= 10,8,4,5,7,(1,2),9,6,3
20—F— 10,8,4,5,7,1,2,9,6,3
Jol=5r= 10,9,4,8,1,5,2,7,6,3
40—+ — 10,9,4,1,8,2,5,7,3,6
[ N5
B 1 760M 714K 1-10 430 e E 1-8 680 JEE 1-9-10 1,640M
B B 1 170 1-9 280M B = 1-10 1,630 EE 1-10-9 10,870M
10 220M 9-10 350M B H 1-10 3,010M
9 1609

ABICOVWTRDTEEERROODE. TR LIV,




